B.A. (Hons) Sem-VI Examination 2020
Subject- History (Hons)
Paper- CC XllI

History of the Modern Europe Il (1871-1945)

F.M.- 60
Time- 3 Hrs.

The figures in the margin indicate full marks. Candidates are required to give their
answer in their own words as far as practicable.
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1.Anwer any six of the following qunstions: 6X5= 30
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a) Trace the circumstances leading to the formation of the Dual Alliance.
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b) To what extent did Kaiser William Il deviate from Bismark’s foreign policy?
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c) Analyse the impact of the Balkan Wars (1912-13) on European politics.
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d) Account for the success of the Balsheviks in the October Revolution (1917).
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e) How would you explain the rise of Fascism in ltaly?
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f) Analyse the role of foreign powers in the civil war of Spain (1936-39).
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g) Analyse the circumstances leading to the formation of the Rome- Berlin- Tokyo
Axis,
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h) Discuss in brief the background of the formation of the United Nations

Organisation.
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2. Answer any three of the following questions.
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a) Was the Berlin settlement of 1878 a satisfactory solution to the Eastern

10X3=30

question?
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b) Determine the extent of German responsibility for the outbreak of the First
World War.
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c) Was the treaty of Versailles (1919) a ‘diktat’?
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d) How did France search for security in the inter-war period?
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e) Under what circumstances was the Soviet-German Non-Aggression Pact of
1939 singed? Why did it fail?
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